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Seat No. Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination

Subject Code: C300015 Date:8-06-2017
Subject Name: FUNDEAMENTAL OF MECHANICAL ENGINEERING
Time: 10.30AM TO 12.00PM Total Marks: 70
Instructions:
1. Attempt all questions.
2, Make suitable assumption wherever necessary,
3. Each question is of 1 mark.
4, Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. Y& wal [Ascul
Which of the following is permanent joining process?
1. | A. | Soldering B. | Welding
C. | Brazing D. | All of the above
s{lAsttniell 58 Alsal H2all sl uBau &2
1. | A | desdla B. | aeslal
C. | @oflal D. | Guzell st o
Which of following has internal thread?
2. | A Bolt B. Stud
C. Nut D. | None of the above
o{lActiHigll Aol AicIs il slat B?
. | A | e B. |3es
C |ae D. | Gurell slsuel o3
Ariveted jointis a ............. fastening.
3. | A. | Permanent B. | Temporary
C. |Both Aand B D. | None of the above
Adzs A2 ............ Wius B,
3. |A | seeedl B. | éawall
C ludAua B D. | Gurell lsuel @
The included angle for the acme thread is
4. [A. [29° B. |35°
C. |55° D. |60°
s el Hizell vig el vel
¥. | A |Rel B. 3y
C. 1{1{0 D. soO
The washer is generally specified by its ..........
5. | A. | Outer diameter B. | Hole diameter
C. | Thickness D. | Mean diameter
dlet {12 eldl ARG SUa Aol ... el ealicua .
W[ A | wslrell clt B. | sletell caut
C. | oste D. | alet cant
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A file removes the metal during..............
6. | A. | Forward stroke B. | Return stroke
C. | Both forward and return stroke D. | None of the above
SISA ............. g allot Ul £ 53 O
5. | A | slRad s B. | Jleod 22l
C. | s ual dleol s Guell Sleugl ol
Shape of Allen key spanner is.......
7. A L-shape B. O-shape
C. U-shape D. S-shape
Actol §l Wotioll USLR ................ ala .
9. | A | sk B. |0 s
C. | u-ausR S -L5(3
Spur gear is used to connect ........ shafts
8. | A Parallel B. | Perpendicular
C. | Inclined D. | All of the above
AR o2l Gualo ... Alg2ol oBlS el HIZ Ul B,
¢ | A MMl B. | sleyd
C. | o D. | Guetl el %
Which of the following is not a pipe fitting?
9. [A. | Coupling B. | Elbow
C. | Rivet D. | Union
o{lAstuiell 57 weSu gléloL otell?
¢. |A | sudlal B. | Aeull
C. | {ae D. | yollaist
Electric motor and generator are connected by following.
10. | A. | Bearing B. | Coupling
C. | Belt D. | Chain
o{lAell Gl SAsILS Hl2? el wel2? Hlsia B.
0. | A | ARaL B. | sucllal
C |dee D. | 38at
The cross-section of a chisel is usually............. .
11. | A. | Rectangular B. | Sqguare
C. | Hexagonal D. | Octagonal
Y Bctetl 12 I sl Aot ... el B,
4. | A | dudly B ey
C. | weslel D. 1 aQlseolletet
A hacksaw blade cuts on the............
12. | A. | Forward stroke B. | Return stroke
C. | Both Forward and Return stroke | D, | None of the above
U OAS oo g™ allet S1U B,
R. | A | e s B. | flesl2als
C. | lead wua flao 3ls wa Guetl Slsual sl
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Which of the following is a power transmission device?
13. | A. | Beltdrive B. | Chain drive
C. | Gear drive D. | All of the above
ol Aotimiell 53 uieR gi{latet gLeSal 82
3. | | de y18d B. | 8t 518
C. | ollaz st GURell 6Lt o
V-belts are usually used for...............
14. | A. | Long drives B. | Short drives
C. | Long and Short drives D. | None of the above
v-olee 2 Ul ... H2 Guallol s B,
. | A | cioll st B. |24l si8a
C. | el e g6l si5a D. | GuRell slouel o3
When the axes of the first and last wheels are co-axial, then the train is known as
15 A. | Simple gear train B. | Compound gear train
C. | Reverted gear train D. | Epicyclic gear train
222 USCL ol Beal cfletoll vlala sl-uElue slat U 38et ... sdc .
U, ALl oflaR 2850t B. | 5185 oflaR 265et
C. | s oflar 38at D. | glaasells olla 2650t
.............. gear train is mostly used in clocks.
16. | A. | Simple B. | Compound
C. | Epicyclic D. | Reverted
dfSaoHl W2 eud .............. oflatR 285etoll GualloL el B,
1s. ALEl B. | siu6s
C. | da3s D. | sllawasclls
The size of a gear is usually specified by ............
17. | A. | Pressure angle B. | Circular pitch
C. | Diametral pitch D. | Pitch circle diameter
oflaRe] HI ... o3 RUARSSs W 8.
9. | A | Qur Ao B. | user lu
C. | stauileet Wu D. I flu udet steudle?
The efficiency of transmitting power will be maximum in case of ..............
18. [ A. | Chain drive B. [ Open belt drive
C. | V-belt drive D. | Rope drive
Wi gl {ldlol AE{lelll HetH ... SuHi &dL
1. | A | AL ySa B. | alluet dee gla
C. | v_dee g1 D. | Qu gl
A simple gear train is one which each shaft carries............
19. | A. | One wheel B. | Two wheels
C. | Three wheels D. | Four wheels
Al oA 285t A UL ERS WS UR ...oeoo.... Sled 8la .
qe.
A | As fld B. | @ cfldt
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C | ool fle D. | R dle
The gear train used for large speed reduction, where space is limited, is.............
20. | A. | Simple B. | Compound
C. | Epicyclic D. | All of the above
w2l oroell HallEcdl slal cU? dtllR BSU ealSell Hie ............ ofla1R 285atall
GualloL L B,
20. .
ALl B. | siu@s
C. | sllaasels D. | Guretl ettt o
The operation of bending a sheet of metal along a curved axis, is known as............
21. | A. | Plunging B. | Notching
C. | Slitting D. | Forming
caiscuofl (RU UR tldel dals Ul HIZ SRAHL el stelal ......... 58 8.
4. | A | wdollaL B. | sllflal
C. | 2eldlal D. | glaflot
Which of the following is a machining process?
22. [A. [Welding B. | Turning
C. | Brazing D. | Soldering
ol Aotimiell 58 alle{lor ysglan &2
2. | A | AlXat B. | zo{lot
C |Gl D. | dlesdAat
Which one of the following is a remedy to avoid accidents?
23. | A. | Wear safety shoes B. | Wear proper clothes
C. | Knowledge of safety rules D. | All of the above
ol Aotimigll 53 v Aaral W2 Gualall 87
23, Asl o2 ugRal B | @t susi udal
C. | uctrdlott Blaule stiot D. | Guaol ot %
Which of the following is the cold working process?
24. | A. | Cold rolling B. | Hotrolling
C. | Welding D. | Casting
o{lAattuiell 58 sles alSol yslaw 82
Y. sles Aoy B. | gle AL
C. | aXat D. | siadlaL
Hot working is carried out .............. recrystallisation temperature.
25. | A. | above B. | below
C. |[equalto D. | None of the above
8l aslol Yot:252150L dlUMHlol SRcll .............. dlUMLel sReMl A B,
U [ A | BuRetl B. 1 o{lqetl
C. | du D. | Guaeu slsugL ol
Which of the following material can be used for making patterns?
26. | A. | Aluminium B. | Wax
C. | Lead D. | All of the above
6. | ollActmiell s Héllactall Guallol Ueel elollelall Hi2 U2 82
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A AeyfRan B. | aa
C. |l els D. | Guael ottt %
Which of the following is not a step of casting process?

27. | A. | Pattern making B. | Coining
C. | Mould and core making D. | Melting and pouring
ol Aotimiell 52 R U sREloL yslauell euot otell?

2. Yeol AloL B. | s185+{laL
C. | 3qes wual Sz ABaL D. | Aedlot wa WEat
Which one of the following is cause of accidents ?

28. | A. | Accurate machine B. | Faulty electric wiring
C. | Machine drive with guard D. | All of the above
ol Aotimigll 53 visMLclo] S1R0L B?

2¢C. UL Hellst B. | yilend sdsdls cwadlal
C. | auf udlef Heallet g1l GURell 6Ll o
The grinding operationisa...........

29. [ A. | Forming B. | Dressing
C. | Surface finishing operation D. | Shaping
.............. S Sot AU et 8.

e, | A | 8l6To B. | 3R
Co | u¥a Bollallo 20ub alet D. | aRlal
Which of the following is a metal joining process?

30. | A. | Machining B. | Milling
C. | Gas cuiting D. | Welding
s{lAsttiell 58 ulg wlscuell yslau 82

30. [A | uelle{loL Bl da
C. | 3 sdlat D. | a@oL
Most of the oxy-acetylene welding is done with........

31. | A. [ Neutral flame B. | Oxidising flame
C. | Carburising flame D. | All of the above
HL2 U3l - ARl AlEoat ... ol w8

3. [ A | oget vl B. | alEAsS Aol
C. | steefauesoflat GURell 6Ll %
The maximum flame temperature occurs........... ..

19 A. | Atthe outer cone B. | At the inner cone

" | C. | Between the outer and inner D. | At the torch tip
cone

HeeeH el cllUHlot ............. Ged B,

32. [A | wBeR sl wR B. | Set2 slot wR
C. | B2 val So12 Slot o2 A &l uR
The oxygen cylinder is usually painted with...............

33. | A. | Black colour B. | White colour
C. | Maroon colour D. | Yellow colour
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WAl RQAEAS W2 el ... ol sl B.

33. | A | sl 201 B. | ude 201
C. | uget 20 D. 1 flow 20
Neutral flame is used to weld ................

34. | A. | Steel B. | Castiron
C. | Copper D. | All of the above
o2 &l cloll GUlloL......... oll ASloL IS L B.

3%. |A | Hla B. | 5122 auatel
C | AuR D. | Gurett o
In arc welding the electric arc is produced between the work and the electrode by

35. | A. | Voltage B. | Flow of current
C. | Contact resistance D. | All of the above
wls ABoHl SAsELs wuS b wel SAsSS aAd ... od G A B.

3. [ A | dey B. | scll 2lls 522
C. | sl3se 2R D. | Guretl sl %
Acetylene gas is stored in cylinders in..............

36. | A. | Solid form B. | Gaseous form
C. | Liquid form D. | Any one of the above
Aot S, RUASRHL ... Hi ol wa B,

36. | A | tlel 23U B. | auz a3y
C. | yaudl 234 D. | Guaniell 8¢5 ueL s
The consumable electrode is used in.............

37. | A. | Carbon arc welding B. | Submerged arc welding
C. | TIG arc welding D. | MIG arc welding
oA SAsgLsell Guloal .......... U D

30. | A | stolet 2§ Aeslol B. | dauefs wus dAcslo
C | TIG 2 Aeslal D. 1 MiG 25 acslat
The brass and bronze are welded by .............. flame.

38. | A. | Neutral B. | Oxidising
C. | Carburising D. | All of the above
Wl Wl olle] Acslol ... Al e 8.

3¢. | A | oyga B QSIS
C. | stefuesoflal D. | Guzell et o
Which colour hose pipe is connected to acytylene cylinder?

39. |A. | Red B. | Black
C. | Green D. | White
sell 200o{l 8l W usll Gullol A Ele{lot Alclos 2maneL 87

3e. [ A A B. | slou
C | dleu U3E
In the soldering process, filler metal nameis ..............

40. | A. | Spelter B. | Flux
C. | Electrode D. | Solder
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Ales Aot yglawnl gler Nedoj ot ... 8.

¥0. | A | e B. | sqal
C. | sdsals D. | Qes?

A closed vessel made of steel and used for generation of steam from water above

41 atmospheric pressure is calleda ............. :

" | A. | Steam boiler B. | Steam turbine
C. | Steam condenser D. | Steam injector
Bleo{l olalell el wellHiell 2E1H olottaelt HI2 aldiaRe(l2L £61LRL Sl oLl
EGLBL SRl ol WA ..o 58 B.

¥4.

A @l e B. | ¥ euligat
C. |l s3u2 D. | ¥l 8%se?
Which of the following is a fire tube boiler?

42. | A. | Lancashire boiler B. | Babcock and Wilcox boiler
C. | Yarrow boiler D. | None of the above
ol Aotimigll 53 2R eyul sllSER §?

¥2. | A | B B Qusls ual dleslat sllsee
C. | 32 clSet? D. | Guell slsugLel®
Which of the following is a water tube boiler?

43. | A. | Lancashire boiler B. | Babcock and Wilcox boiler
C. | Locomotive boiler D. | Cochran boiler
ollActimigll ) clleR eyul sl B2

¥3. [ A | dBwAR dlSeR B. | dusls wal dlasla dlsa
C. | dsldla et D. | sluret cllSetR
Fire tube boilers are...........

44 A. | Internally fired B. | Externally fired

" | C. | Internally as well as Externally | D. | None of the above
fired
sl2AR eyl AR ............. B.

¥y, | A | Sedlell sus B. | fgeelell staud
C | Seolcll A Aateolell sta8 | D | Gurot slsuglolld
Water tube boilers are.................

45 A. | Internally fired B. | Extemnally fired

" | C. | Internally as well as Externally D. | None of the above
fired
cle? Yol ol ... 8.

¥u. | A | Seolell sas B | fgeolell stad
C. | Seolell @ Aateolell stad | D | GuRell slsuL«i@

The water tubes in a simple vertical boiler are............

46. | A. | horizontal B. | vertical
C. | inclined D. | None of the above
Lt adlset cllSetul wellell stollzAl ... ala .

¥S.

A |8l B. | @el
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C 1ol D. | Gurell slsug ol
Lancashire boiler has .................... internal flue tubes

47. | A. | One B. | Two
C. | Three D. | Four
AZaAR WllSAR ............. Seolcl 56| eyoll sl &

¥9. | A | As B. 1@

C. | 2l Dy
Which of the following is not a boiler mounting?

48. | A. | Blow of cock B. | Feed check valve
C. | Economiser D. | Fusible plug
o(lAsttHidl 56 lSc HEEloL otell?

¥e. | A | ocll s sls B. | ¢ls As alca
C. | S8lllus»e D. | epoflotet wiot
The number of water level indicators in a boiler are generally ................ in number.

49. [ A. | One B. | Two
C. | Three D. | Four
WSARML dll2? Add Soslde UHle A ............... sloL glaL B.

¥e. | A | As B.1q
C. | ol DR
Which of the following are boiler accessories?

50. | A. | Economiser B. | Superheater
C. |Both Aand B D. | None of the above
o{lAstHiell 56 WlSc AAUIN» &2

wo. | A | Sl xR B | yurélez
C lud AuaB D. | Gurell SisuaL @
Which of the following is not an automobile?

51. | A. | Motor cycle B. | Passenger car
C. | Aeroplane D. | Truck
ol Aetimigll s Bl S otell?

ug. | A | fleruase B. | Qo2 512
C. | A&t D. e
The petrol engine works on.........

52. [ A. | Otto cycle B. | Camnot cycle
C. | Diesel cycle D. | Rankine cycle
Ugled ARt ... uR slel 53 8.

uR. | A |l asa B. | slefle wiasa
C | Sloet s D. | 3s165ot auaset
The Diesel engine works on.............

53. | A. | Otto cycle B. | Carnot cycle
C. | Diesel cycle D. | Rankine cycle
Sl ABot ... u? sl 53 8.

u3.

A2 wase B. | sielle aasa
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C. | Sloet wasa D. | 351656l ALlatsed
The petrol engines are also known as............

54. | A. | S.1 engines B. | C.I engines
C. | Steam engines D. | None of the above
Uelet ARt ... A3 anelldi 8.

uy, | A | SL AR B. | cr d®et
C | @l ARt D. | Guell slsueLol@

The compression ratio of a petrol engine is nearly................

55. [A. 41 B. |81
C. [151 D. |20:1
PECEN TR PR ET BT N U— ofl o195 slaL B.

. (A e B. ¢
C. | quq 20:4
In petrol engines, during suction stroke, ............... is drawn in the cylinder.

56. | A. | Air and fuel B. | Only fuel
C. | Oaly air D. | None of the above
Yelet ARl Usot 218 e 2ot REAs™ML ... ELULE UL D,

ug. | A | sal ual oLeteel B. | g5 slnclil
C | ssd gl D. | Gurew sleui o
In Diesel engines, during suction stroke, ............... is drawn in the cylinder.

57. | A. | Air and fuel B. | Only fuel
C. | Only air D. | None of the above
Sl ALRetHi AsUat 215 €M 2ot RUASML ............. ELWE AUl B

wo. | A | eat usl oty B. | g5l slncal
C. | g5 gall D. | Guastl slsunl o
Instead of valves, the ports are used incase of ...............

58. | A. | Four stroke L.C. engines B. | Two stroke I.C. engines
C. | V-6engines D. | None of the above
............... U alicelofl aroRual Weuell Guallol alelL B,

ue. | A | AR ls . Al ARet B. g @ls wes. ¥l AR
C. | vo6 ARt D. | GuRell slsugL el
The theoretically correct mixture of air and petrol is.............

59. [A. [10:1 B. |15:1
C. [20:1 D. |25:1
Atlifedls A el Wl GloLcdBle] YHIBRL ... slad,

ue. | A |04 By
C. | 201 U4
Diesel as compared to petrol is

60. | A. | Highly ignitable B. | More difficult to ignite
C. | Less difficult to ignite D. | None of the above
Slc Ugle s2cll

50.

A eeotalle sl B. B. | ggot srcl ML cltll? weR
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C. | €ot sRcll HI2 g WU D. | Gurs slsugl a3

For 450 m head of water ................. shall be used.
61. | A. | Pelton wheel B. | Kaplan turbine

C. | Francis turbine D. | None of the above

Yuo Hl ol &S 12 ... oll Guallol el B,
sq. | A | Uceal fled B. | sielel 2ulleel

C. | silla 2ol Sat D. | Gurell SlsueLell

Which of the following pump is used for small discharge and high heads?
62. | A. | Centrifugal pump B. | Axial flow pump

C. | Mixed flow pump D. | Reciprocating pump

oll Astiriell seul uusll Guallol 2L SlRAULS ol ctll? &5 HIS UL B?
g2, [ A | Adlgyyole uu B. | Al sell uu

C. | flses sell uu D. | 3R Uy

Which of the following pump is successfully used for lifting water from deep walls?
63. | A. | Centrifugal pump B. | Reciprocating pump

C. | Jetpump D. | Air lift pump

oll Aotiriell seul vusll Guallol st geuHill usaciell well steal e &2
53. Adlwrpoled Uu B. | 2R3 EloL v

C. | ®euu D. AR ellse uu

Which device is used to lift larger load by the application of 2 much smaller load?
64. | A. | Hydraulic press B. | Hydraulic ram

C. | Hydraulic intensifier D. | Hydraulic coupling

53 ALttt el clsell Guallal 3o auiR cls ellse 531 asia &2
s¥. [A | alul@s Ju B | slaglds 2u

C. | slagl@s s sla12 D. | slasl@s siellol

Which of the following is not a hoisting equipment?
65. | A. | Lift B. |Jack

C. | Conveyor D. | Truck

ol Astimiell 53 lSEloL Altiot otell?
sw. [& | dls B. | g

C | sqaR 25

Belt conveyer is used to transfer material for ..............
66. | A. | Long distance B. | Small distance

C. |Both Aand B D. | None of the above

Ace sdarell Guallol........... Hal3lad cget M2 L 8.
55, | A | drR R Bl iR

C |ud auaB D. | Guell slsuel o

Following of which equipment is used for digging of land?
67. | A. | Power shovel B. | Bridge crane

C. | Grid roller D. | Jack

o{lActiiiell sell Alotoll HIElo{l aLes Hue Guallol aaL &2
59.

A yleR dlaa B. | oflos 3t
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C. 1 alls Aae?

Which type of hydraulic device is used i

n multi store building ?

68. | A. | Hydraulic lift

B. | Hydraulic press

C. | Pneumatic press

D. | None of the above

2l YslRe] slalds Aliotoll Guallol Hel 2R olleslowi sz 82

sc. | A | alagl@s dlse

B. | slagl@ds du

C. | oyidls Qu

D. | Gurell slsuel ol

Which of the following is a earth movin

machinery?

69. | A. | Screw conveyer

Bull dozer

C. | Elevator

B.
D. | Fork lift

s{lActtiell 58 18l Yellot uallotdl &2

se. | A | 5daR B. | qeslosR

C. |a@adez D. | q5@se

Material handling equipments are used to transfer material in ............. direction
70. | A. | Horizontal B. | Vertical

C. | Inclined D. | All of the above

Hal3laa Esellol austlatl Guallol 1dldlad ... [ sunl cget 12 w2 82
90. | A sl B. | @ell

C. | ol D. | GuRell sl %
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